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#include <SoftwareSerial.h>
SoftwareSerial mySerial(2, 3); // RX, TX

byte cmmdTarget[4] = { 0x55, 0x01, 0x03, 0X03 }; // Device #3 71D
byte cmdStandby[4] = { 0x55, 0x02, 0x00, 0X0d };

String msg = "Root-01234";

boolean lineBreak = 0;

void setup() {
Serial.begin(9600);
mySerial.begin(9600);

}

void loop() {
Serial.println("Connect to device #3");
mySerial.write(cmdStandby, sizeof(cmdStandby));
delay(20);
mySerial.write(cmdTarget, sizeof(cmmdTarget));
delay(20);

mySerial.print(msg);
Serial.println(“Send: “ + msg);
delay(50);

//E Tk p device HE

mySerial.listen();

String rcvmsg = "";

while (mySerial.available() > 0) {
byte inByte = mySerial.read();
Serial.print(char(inByte));
rcvmsg += char(inByte);
lineBreak = 1;

}

if (lineBreak == 1) {
Serial.println();
lineBreak = 0;
Serial.println("Received from device: " + rcvmsg);

}
delay(1000);




% %% device :1116bits ID 4T :

Device ID (16bits)
Device #1 {0x55, 0x01, 0x01, 0X0d }
Device #2 {0x85, 0x01, 0x02, 0X02 }
Device #3 { 0x55, 0x01, 0x03, 0X03 }
Device #4 {0x55, 0x01, 0x04, 0X00 }
Device #5 { 0x55, 0x01, 0x05, 0XO01 }
Device #6 {0x55, 0x01, 0x06, 0X06 }
Device #7 {0x55, 0x01, 0x07, 0XO07 }
Device #8 {0x55, 0x01, 0x08, 0X04 }
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#include <SoftwareSerial.h>
SoftwareSerial myRX(2, 3); // RX, TX
boolean lineBreak = 0;

String msg = "abcdefghij";

void setup() {
Serial.begin(9600);
myRX.begin(9600);

}

void loop() {
myRX.print(msg);
Serial.print("Send to Root: ");
Serial.println(msg);

myRX.listen();

— ",

String rcvimsg ;

while (myRX.available() > 0) {
byte inByte = myRX.read();
//Serial.print(char(inByte));
rcvmsg += char(inByte);
lineBreak = 1;

}

if (lineBreak == 1) {
Serial.println("Received from Root: " + rcvimsg);
Serial.println();
lineBreak = 0O;

}




delay(1000);
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#include <SoftwareSerial.h>
SoftwareSerial mySerial(2, 3); // RX, TX

String msg = "Root-01234";



boolean lineBreak = 0;

void setup() {
Serial.begin(9600);
mySerial.begin(9600);

}

void loop() {
Serial.println("Send: " + msg);
mySerial.print(mmsg);
delay(50);

//EN Tk p device HEL 4

mySerial.listen();

String rcvmsg = "";

while (mySerial.available() > 0) {
byte inByte = mySerial.read();
Serial.print(char(inByte));
rcvmsg += char(inByte);
lineBreak = 1;

}

if (lineBreak == 1) {
Serial.println();
lineBreak = 0;
Serial.println("Received from device: " + rcvimsg);

}

delay(1000);
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#include <SoftwareSerial.h>
SoftwareSerial mySerial(2, 3); // RX, TX

String msg = "Device-01234";
boolean lineBreak = 0;

void setup() {
Serial.begin(9600);
mySerial.begin(9600);

}

void loop() {
Serial.println("Send: " + msg);
mySerial.print(msg);
delay(50);

//¥Ack p root g3 4,



mySerial.listen();

String rcvmsg = "";

while (mySerial.available() > 0) {
byte inByte = mySerial.read();
rcvmsg += char(inByte);
lineBreak = 1;

}

if (lineBreak == 1) {
Serial.println();
lineBreak = 0;

Serial.println("Received from root: " + rcvimsg);

}
delay(1000);
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